( peter

kenntVorgaenger =
kenntNachfolger =
hatWuerfelbecher =
kenntWuerfell =
kenntWuerfel2 =
vorgaengerZahl = 54
eigeneZahl = 33

! merkeVorgaengerZahl()
! merkeEigeneZahl()
\? gibGewuerfelteZahl()

( doris

kenntVorgaenger =
kenntNachfolger =
hatWuerfelbecher =

\! nimmWauerfelbecher() )

( siglinde

kenntVorgaenger =
kenntNachfolger =

eigeneZahl = 54

\? gibGewuerfelteZahl()

a wuerfelbecher

hatWuerfell =
hatWuerfel2 =

! schuettelDich()
?[!'] hebeAn()

[? gibWuerfell()]
\[? gibWuerfel2()]

wuerfell

augenzahl = 3

wuerfel2

~

! nimmNeueAugenzahlAn()

\? gibAugenzahl()

augenzahl = 3

! nimmNeueAugenzahl An()

\? gibAugenzahl()




